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GENERAL INSTRUCTIONS / ®THT=g fdwr .

L. Carefully fill up the necessary particulars on the OMR Answer Sheet.

A o Tt faeRor OMR 398 93 4y 9

[ SW]

Put your full signature on the OMR Answer Shect in the space provided.
M 30 90 ERMeR OMR 3T 0% 8 @ 18 v w7 &6 |

There are 40 Multiple Choice Questions in this Question Booklet,
I uv qfias § T 40 Tg-famedty wog §
All questions are compulsory.

Each question carries 1 mark. No marks will
be deducted for wrong answer,
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1.

2.

{2

1 joule is equivalent to

(1) 10°erg (2} 10%erg

(3)~ 10"erg 4) 10 "erg

] o €4 &

(1) 10> 3w (2)  10° 37

(3) 107 3m 4) 1077 I

Which of the following is not the name of a physical quantity ?
(1) Time (2} Impulse

(3) Mass \/(41 Kilogram

= 7 ¥ F=-ar fedt difqs o sram s & 2
e (2) @

(3) e (4) fToperum
Dimensional formula for pressure is

(1)  [ML7'T7?) (2)  [MLT?

(3)  [MLT) @ (M
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g &1 fodta @ @
(1) (MLT2) (2) [MLT"Q]
(3)  [ML2T) @ (MUTT

| . _ 2
The velocity v of a particle at an instant t is given by v=at+bt". Then the

dimension of b is

1) (L] @ (LT
(3) [ LT? (4) [ LT3

ot wma ¢ uw F Ay R A R, v =ar+ be2, A bW R w TR

(1) [L] 2 [LT7')
@ L1 0 4 [ LT

A runner covers a circular path of radius R in 40 seconds. His
displacement after 2 minute 20 seconds is

(1) zero \}2} 2R

(3) 2nxR (4) 7a=aR

wmmﬁm%qﬁuwmwwmmﬁwﬁﬁmtlzﬁm
20 YHTE 915 IHH e g

\\(B gie (2) 2R
(3) 2=R (4 7zR
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6..~ A body starts at a velocity of 20 m/s. If its acceleration is 2 m;’s2 , then

L/

velocity of the body after 10 second is

W40m/s (2) 20m/s
(3) 30m/s (4) 10 m/s

w%zonﬁz@%&nﬁwmm%mﬁwwzﬁrm?a’rFﬁ
10 ¥ =g fuvg &1 a7 &m

(1) 40 T/d (2) 20H/d@
(3) 30H/¥ (4) 10H/@

The area under velocity-time graph for a particle in a given interval of
time represents

(1) velocity (2) acceleration

(3)  work done (4) displacement

et Br o g o fEd &0 & feu aU-aea UE % SRR AW Eren &
e g g e 2

()  =m (2) T

(3) feu T wH 4) fowmes

Two cars A and B are running at velocities of 60 km/h and 45 km/h.

What is the relative velocity of car A with respect to car B, if both are
moving eastward ?

, (1}~ 15 km/h (2) 45 km/h
(3) 60 km/h (4) 105km/h

XS-PHY-(Comp.)-8 5/ 20
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: | X B & @
'rfra:ﬁAQETB,ﬁekm/ha%km/héﬁﬁTf:fﬁﬁjf' RE
BT A &1 s A & A A et qd @ F e &

(1)  15km/h (2) 45km/h
(3) 60 km/h (4) 105km/h

A particle moves with uniform velocity. Which of the following statements

about the motion of the particle is true ?

(1) Its speed is zero

(2) [ts acceleration is zero

(3} [ts acceleration is opposite to the velocity
(4 [ts speed may be variable

T U THETH &7 | TMAHH &1 39 F0 R AT F an A w9 99 G L )
(1) T e v g (2 T Ry g

(3) T A AT & famda ¥ (4) IR T AR B ged &
Free fall of an object in vacuum is a case of motion with

(1) uniform velocity 2)

uniform acceleration

(3)  variable acceleration (4} uniform speed

xs-PHY-{Comp )-8 20
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11, A body starts from a point A, travels to a point B at a distance of 1-5 km

12.

13.

and returns to A. If he takes one hour to do 8o, his average velocity is
(1) 3 km/h (2) zero
(3) 1:S5km/h (4) 2km/h

UF FAeH g A ¥ o ¥F w3, 1.5 ol ) g @ o fag B aw R @
HR TIH A T A ) IR I QW FA F T Ge onrar &, @ Iww e an

(. 3km/h | @ =
(3)  1:5km/h | (4) 2km/h

Which of the following is not a scalar quantity ?

(1)  Temperature (2)  Coefficient of friction

{(3)., Charge (4) Impulse
7 1 ¥ B safew o 7@ & 2

(1) @m \(2) THY TUTih
(3)  #HEW (4)  @mam

A body is travelling in a circle at a constant speed. It

(1) has an inward acceleration

(2)  has constant vclocity

(3)  has no acceleration

14)  has an outward radial acceleration

X8-PHY-(Comp.)-8 7/ 20
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% fuvg tHEaE 91 ﬁ@ﬁﬁﬂﬁﬁﬂﬂ%lﬁﬁ

(1) &@RoT 3T &t 3R el \(2) an g e
(3) &I o 7@ e @) O A e

. . : 3
Which of the following remains constant for a projectile motion :
(1)  Kinetic energy

(2) Momentum

9, - Horizontal component of velocity

(4)  Vertical component of velocity
v T o forn Fefafad § @ w4-w fer war o
(1) 7fast (2) dam

(3) o7 = & e (4) A1 F Tty g

- = - 2 -
f | A+ B|=| A~ B, then the angle between A and E will be

(1)  30°

(2) - a5°
(3)  60° (4)  90pe
g |3+§|=12-§1. @ A TS fé%ﬁam#mm
(1) 30° (2) 450
3 60° 4) oo
XS-PHY-(Comp.).g
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16.

17.

18.

Science

Which of the following is not a property of a null vector ?

- =3 - - -
(1) A+0=A (2)  A0=0 where A is a scalar

-+ - - - =
(3 0A=A 4 A-A=0

(1] A+0=A4 2) 10=0, & A TH afzw ¥
3 0A=A 4 A-A=0

In case of a projectile motion, what is the angle between the velocity and

acceleration at the highest point ?
(1) 0° \BL 45°
(3) 90° (4) 180°

R wee 1fd % o §, Ivead fag W T W @KU & 6" @ S
g€ ?

(1) ©° (2) 45°
(3) 90° (4) 180°

The centripetal force acting on a body undergoing circular motion is

) 2

(1} mo°r (2) mor

3) mao?r? @) mo®/r )

XS-PHY-(Comp.}-8 9/ 20
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)T EA F v fram (j)

T M § Rt At v o aver s @ 8

(1) m w3r (2) mor?

(3) me22 4) mo?/r

Which Newton's law is the real law of motion ?

(1) Newton's first law of motion  (2) Newton's second law of motigy,

Newton's third law of motion (4) none of these

e &7 g g
(B) T = g fam (4) T 9 HE 95
The motion of a particle of mass m ig described by y l

2
=Uut+-—gt®. The
59
force acting on the particle is

(1)  2mg (2 mg

(3)  mg/2 @ 4mg

SATH m & TF FOT H M, y=ut+s SR L T
EEi

(1) 2 mg 2 mg

(3)  mg/2 @ 4mg

XS-PHY—{Comp.]-s 10/ 20
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22.

23.

Science

A large force is acting on a body for a short time. The impulse imparted is

equal to the change in

(1} acceleration (2)  momentum

(3)  energy (4)  velocity

fFdl fvg W uw wg 9o 9R W % e Al 1 amifed sm@m e F @
hEH qREAT & S g )

(1) R (2) - ¥am

L4

(3) Sl (4) =

A cork of mass 10 gram is floating on water. The net force acting on the

cork is
(1) 10N (2)  107°N
(3) 107*N (4)  zero

1omwm@mwﬁwﬁm%|mmmﬁaﬁzmwm ?
(1) 1074 (2) 107 =geA

(3 1072 A 4) I3

Rolling friction is

(1)  less than sliding friction (2)  more than sliding friction

(3)  equal to sliding friction (4) none of these

XS-PHY-(Comp.}-S - 11 / 20
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24.

A% gYUT F1 O
(1) |ut gqor ¥ FH g @ 2 gt guor ¥ SR
(3) T GEUT F TSR A B (4) gt 4w

. l .
A bullet of mass 40 gm is fired from a gun of mass 8 kg with a velocity of

800 m/s. Calculate the recoil velocity of the gun.
(1) 1 m/s 2 -1m/s
3) 2m/s 4) -4m/s

40 UM FEAM &l TF el H 8 fww gomE F Sgw d 800 Hi/ F AN 4 qm
ST 8 A S5 & dIg g2 & S i AT S

(1) 1@ 2) -1%y/49
3) 2®/R 4) -4d/9

A block of mass M is placed on a flat surface, A force is applied to move it

parallel to the surface. The frictional force f developed is proportional to
the

(1) square of the mass of the body

(2) mass of the body

» (38}~ reciprocal of the mass of the body

(4)  reciprocal of the square of the mass of the bog
y

K—-PH’Y—(Comp.l-s
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27.
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SHAF M F Th 60 FHAE T W @ T 21 T FAe F R of I %
feTT Teh &1 ST S ¥ | foenta g 9 £ & @HE e 8

(1) Tuvs & o &

(2) TUvs F gEmE @

(3) Tz & zemm w1 fasimruE
(4) Tave & gmm & it F1 fereAmrr

A body is being raised to a height h from the surface of earth. What is the

sign of work done by (i) applied force and (ii) gravitational force
respectively ?

(1) Posilive, Positive ’(24/ Positive, Negative
(3) Negative, Pﬂasitivel - {4) Negative, Negative

fFat fvg &1 gl ® TAE ¥ h HEE dF I A E, @ (i) TR T 9 ue
(ii) TEEE 9 & R T4 T w1 faed @ g

(1) YcHh, YlcHSh Q”/ " YIS, BUHH
(3)  HUTCH, YIS (4)  HUIHE, FUTHD

The work performed on an object does not depend upon
( H -t:’ﬁé displacement

(2}  the force applied |

(3)  the angle between force anddisplacement

(4) initial velocity of the object

XS-PHY-{Comp.)-S "13 / 20
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28.

29.

N

Taﬂﬂaﬁwfwww&mw%ﬁ?ﬂﬁmﬁ?

(1), fawamm

(2) WA o
(3) TR #R ST F &= H FH
(4) T 1 TRIEE T

For a moving particle { mass m, velocity v) having a momentum p, which

one of the following correctly describes the kinetic energy of the particle ?
(L p/2m 2 p/2m
3) v/ 2m 4 v/2m

U Nasie? 97 (geaHE m,ﬁv)ﬁWWp%,ﬂ}fﬁWﬁﬁﬁ?Wﬁm
F1 &1 AU AT 8 ?

(1) p°/2m (20 p/2m
3) v/ 2m 4)  v/2m

A body of mass 10 kg moving at a height of 2 m, with uniform speed of

2 m/s. Its total energy is
{1y 316.J (2) 2164

(3.7 116 ’ (4) 392

XS-PHY-(Comp.)-8 14 / 20
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10 T g&mm &1 v fivg 2 ot 3 FEE ®w 2 H/R @ GEeEH 96 @ e

30.

31.

THH FoT Foll ¢
(1) 316J 2) 216J
(3) 116J (4) 392J

Which of the following units is a unit of power ?
(1) kilowatt-hour (2) watt
(3) erg (4}  calorie

= O § F9-971 99 6 &1 95F © 2

(1) Teetare-ave \(%Enz
(3) & (4) HER

Moment of linear momentum is

(1) Couple (2)  Torque

(3)  Impulse (4)  Angular momentum
TEYg o T YU wEeTl €

(1) AT \2) - -t

(3) &A@ (4) IO TET

XS-PHY-(Comp.)-S
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32.

-T
) i lar momentum ..
A particle performing uniform circular motion has angu

o lved, then fhe
@ If its angular frequency is doubled and its kinetic energy halv

34.

new angular momentum is

(1), L/2 2) L/4

(3) 2L (4) 4L

THEAT iy T & ool mwﬁﬁﬁﬂﬂﬂlﬁﬂL%ﬁﬁT%!Hﬁ(Wﬁmm
T F G AT AR IGHI T oA et T & AW, A AGT HIoiF G &

(1) L/2 (20 L/4
(3) 2L (4) 4L

The velocity of centre of mass of the system remains constant, if the total
external force acting on the system is

(1) minimum (2) maximum

(3) unity (4) zZero

wm&mmwﬁrmﬂm%‘aﬁﬁmwmwmw%

(1) =FTH (2)  3fyspan

@ ¥ AT

The product of moment of inertia and angular acceleration is called
(1) angular momentum (2) torque

(3} force (4) work

XS-PHY-{Comp_}-S 20
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e 3t 3R vl w0 H o R

(1) =g d@am (2 e al

(3) == (4) wHH

Moment of inertia of a solid sphere of mass M and radius R about the
diameter is

2 ;
(1)  2MR? 2 MR?
= 2 ZMR
3) L mr? S MR?
@ L (4] 2MR

2 2 2
(1) =£MR 2)  £2MR?

= () MR
3)  LMRr? 4  Syr2

5 3

(1) W=Fxs 2) W=3xp

(3) W=F.3 (4) none of these
T Pl I AT &

() w=FxS (2) W=SxF gm
3) W=F.8 gN 4) & % @

X8-PHY-(Comp.)-§ 17 /7 20
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37.

38.

The value of g at the centre of the earth 18

(1}  zero (2) %
@ 2 4 9
geat % F% W g F HAH &M
() @ 4
(3) —g- 4 g
The escape velocity from the surface of the earth is (R, is radius of earth)
(1) J9R, (2).  y29R,
(3) 3gR, (4) 4gR,_
gﬁﬁﬁgﬁgﬁwéﬂaﬂﬂﬁﬁwmeqﬁffﬁ?ﬁmy
(1) gR, (2) 2gR,
(3) 3y‘R€ (4) 4gR,
E:l::iie::ir?:f a body in Celsius scale is 40°C. The temperature i
(1) 32°F \(3)\/ 72°F
.‘lQ’ 104° F (4} None of these

X8-PHY-(Comp.)-8
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(1) 32°F (2) 72°F
(3) 104°F (4) TH ] FE T
Speed of sound wave in air

(1) 1s independent of temperature

(2) increases with increase in pressure

(3) increases with the increase in humdity
(4) decreases with the increase in humidity
7A1 ® W@ A

(1) @9FH § S0 @
W2y & F¢ 4 Jedl §

2) FGAl & e € TG @

(4)  STEAT o g% § el €

X8-PHY-(Comp.)-8
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